

TANGGAPAN NG KOMANDANTE (OFFICE OF THE COMMANDANT)

PAMBANSANG PUNONGHIMPILAN TANOD BAYBAYIN NG PILIPINAS (National Headquarters Philippine Coast Guard)

139 25th Street, Port Area 1018 Manila

NOTICE OF AWARD

MR. CARL R. MANZANO
Authorized Representative
KULITS DRUGSTORE
1039 Unit 3 Cor J.P.Rizal St. and
Kingsway Rd., Nangka, Marikina City

Dear MR, MANZANO:

We are happy to notify that your Bid Price for the Supply and Delivery of K9 Requirements-Medicine, Medical and Laboratory Supplies, equivalent to SIX MILLION EIGHT THOUSAND NINE PESOS (P6,008,009.00) is hereby accepted.

You are hereby required to submit within ten (10) calendar days from receipt of this notice any of the allowable forms of Performance Security provided in Section 39 of the 2016 Revised Implementing Rules and Regulations of Republic Act 9184, as amended. Failure to provide the Performance Security shall constitute sufficient ground for cancellation of the award and forfeiture of the bid security.

CG ADMRAL ARTEMIO M ABU/
Commandant, Philippine Coast Guard

Name of the Representative of the Bidder CAPL MANJANO
Authorized Signature TMNYMO



TANGGAPAN NG KOMANDANTE (ÖFFICE OF THE COMMANDANT)

PAMBANSANG PUNONGHIMPILAN TANOD BAYBAYIN NG PILIPINAS (National Headquarters Philippine Coast Guard)

139 25th Street, Port Area 1018 Manila

NOTICE TO PROCEED

MR. CARL R. MANZANO
Authorized Representative
KULITS DRUGSTORE
1039 Unit 3 Cor J.P.Rizal St. and
Kingsway Rd., Nangka, Marikina City

Dear MR. MANZANO:

We are pleased to inform you that the Contract Agreement and Purchase Order for the **Supply and Delivery of K9 Requirements-Medicine**, **Medical and Laboratory Supplies** that was awarded to you has been signed by the contracting parties.

Thus, we are issuing this Notice to Proceed for you to commence with the Supply and Delivery of K9 Requirements-Medicine, Medical and Laboratory Supplies, within thirty (30) calendar days effective from receipt of this notice at the Coast Guard Procurement Service, National Headquarters Philippine Coast Guard 139 25th Street, Port Area, Manila.

Upon receipt of this notice, you are responsible for performing the supply and delivery of the requirement under the terms and conditions of the Purchase Order and Contract Agreement.

You may coordinate with Commander, Coast Guard K9 Force, Headquarters Coast Guard K9 Force, CG Base Taguig, #56 ML Quezon St., Purok1, Lower Bicutan, Taguig City with contact number: 09174586871 for the specific details of their requirements.

Please acknowledge receipt and acceptance of this notice by signing both copies of this document in the spaces provided below. Keep one (1) copy and return the other to the Office of the Coast Guard Procurement Service at the National Headquarters Philippine Coast Guard. You may send the duly acknowledged copy of this notice physically at the above-stated address or through electronic mail at procurement@coastguard.gov.ph.

CG ADMIRAL ARTEMIO M ABU/ Commandant, Philippine Coast Guard Re

Very truly yours

Name of the Representative of the Bidder CAR C MANEANO

Authorized Signature

"Serving our Nation by Ensuring Safe, Clean and Secure Maritime Environment"

PURCHASE ORDER

PHILIPPINE COAST GUARD Entity Name

SUPPLIER: KULITS DRUGSTORE

ADDRESS: 1039 Unit 3 Cor J.P.Rizal St. and Kingsway

Rd., Nangka, Marikina City

TIN NR.

PONR PCG- 22-65-905

Date: 28 MAY 2020

Mode of Procurement: "Negotiated Procurement

under Two-Failed Biddings"

Gentlemen:

Please furnish this office the following subject to the forms and conditions contained herein:

Place of Delivery: Headquarters Coast Guard K9 Force, CG Base Taguig, #56 ML Quezon St., Purok 1, Lower Bicutan,

Taguig City

Delivery Date:

Delivery Term: Within Thirty (30) calendar days from the date of receipt of the notice to proceed (NTP)

Payment Term:

SUPPLY AND DELIVERY OF K9 REQUIREMENTS-MEDICINE, MEDICAL AND LABORATORY SUPPLIES

item No	ltem	Qty	Unit	Unit Price	Total Price
A. An	ti-Parasitic			A CANADA AND A CAN	<u>— — придолированником разминами объему у учество до до</u>
1	Fipronil + (s) Methoprene Spot-On Solution for dogs 2 to 10 kg, 3's	132	box	1,589.00	209,748.00
2	Fipronil + (s) Methoprene Spot-On Solution for dogs 10 to 20 kg, 3's	180	box	1,532.25	275,805.00
3	Fipronil + (s) Methoprene Spot-On Solution for dogs 20 to 40 kg, 3's	810	box	1,589.00	1,287,090.00
4	Afoxolaner 38mg and Milbemycin 8mg Chewable for dogs 7.5-15kg,3's	50	box	2,270.00	113,500.00
5	Afoxolaner 75mg and Milbemychn 15mg Chewable for dogs 15-30kg, 3's	100	xod	2,270.00	227,000.00
6	Ivermectin 272mcg/Pyrantel 227mg Chewable for dogs 51 to 100 lb, 6's	280	box	1,702.50	476,700.00
7	Ivermectin 136mcg/Pyrantel 114mg Chewable for dogs 26 to 50 lb, 6's	70	box	1,475.50	103,285.00
8	Ivermectin 68 mcg/Pyrantel 57 mg Chewable for dogs up to 25 lb, 6's	43	box	1,135.00	48,805.00
9	Praziquantel 50mg+Pyrantel Pamoate144mg+Febantel 150mg tablet, 50's	30	bottles	2,951.00	88,530.00
10	Pyrantel Embonate 14.4 mg/ml Suspension, 60ml	5	bottle	454.00	2,270.00
B. Bic	logicals and Anti-Infective				
11	Canine Distemper, Canine Adenovirus Type 2, Parvovirus, Canine Para Influenza Virus and 4 Strains Leptospirosis Vaccine, 25's	25	tray	8,172.00	204,300.00
12	Canine Distemper, Canine Adenovirus Type 2, Parvovirus Canine Parainfluenza Virus, Coronavirus and Leptospirosis Vaccine, 25's	25	tray	9,534.00	238,350.00
13 -	Bordetella Vaccine, 50's	15	tray	-11,350.00	170,250.00
14	Anti-Rabies Vaccine, 10 ml	30	bottle	431.30	12,939.00
15	Cefovecin sodium 800mg injectable, 10 ml	20	bottle	13,733.50	274,670.00
16	Enrofloxacin 2.5% injectable, 50 ml.	5	- bottle	681.00	3,405.00

4				A contract the contract to the	
17	Marbofloxacin 2% injectable, 100 ml	2	bottle	3,632.00	7,264.00
. 18	Marbofloxacin 20 mg tablet,10's	20	box	1,021.50	20,430.00
19	Marbofloxacin 80 mg tablet,12's	40	box	2,837.50	113,500.00
20	Miconazole Nitrate Chlorhexidine Gluconate Shampoo, 150 ml	100	bottle	510.00	51,075.00
21	Doxycycline Hyclate 100mg/ml Injectable, 100 ml	5	bottle	635,60	3,178.00
22	Doxycycline HCl tablets 100 mg, 100's	200	bottle	1,135.00	227,000.00
23	Mupirocin Ointment 2%, 15 g	5	tube	681.00	3,405.00
24	Clobetasol Propionate 500 mcg/g ointment, 5g	10	tube	431.00	4,313.00
25	Metronidazole 500mg tab, 100's.	70	box	908.00	63,560.00
26	Co-Amoxiclav 625mg tab, 14's	100	box	908.00	90,800.00
27	Cefalexin 500mg, 100's.	10	box	1,702.50	17,025.00
28	Benzyl Penicillin 5,000,000 units (3g) vial	20	vial	340.00	6,810.00
29	Streptomycin Sulfate 1g vial.	10	vail	204.30	2,043.00
C. Su	pplements, Anesthetics/Sedatives, Hematinic, Ar	nti-Inflammato	ry, Anti-Alle	rgy, Anti-Emet	ic and Hormones
30	Energy Supplement Gel, 120.5 g tube	120	tube	794.50	95,340.00
31	Multivitamins and Mineral Supplement tablet, 180's	632	bottle	908.00	573,856.00
32	Glucose Monohydrate Water Soluble Powder, 340g	300	bottle	279.21	83,763.00
33	Xylazine 20 mg/ml injectable, 50 ml	1	bottle	3,405.00	3,405.00
34	Tiletamine/Zolazepam Injectable Anesthetics 50 mg/ml, 5 ml	5	bottle	1,589.00	7,945.00
35	Maropitant 10 mg/ml injectable, 20 ml	5	bottle	12,485.00	62,425.00
36	Dexamethasone 2%, 100 ml	5	bottle	908.00	4,540.00
37	Oxytocin 20 mg/ml, 50 ml	1	bottle	681.00	681.00
38	Omega 3 supplement soft gel, 95's	30	bottle	567.50	17,025.00
39	Firocoxib 57 mg tab, 60's	20	bottle	1,884.00	37,682.00
40	Atropine Sulfate 0.65 mg/ml, 50 ml	1	bottle	227.00	227.00
41	Flunixin Meglumine injectable, 100 ml	2	bottle	3,405.00	6,810.00
42	Joint Supplement Tablets for Dogs tab, 60's	50	bottle	1,475.00	73,775.00
43	Carbocisteine 500 mg, 100's	20	box	908.00	18,160.00
44	Tranexamic Acid 500 mg cap, 100's.	5	box	2,270.00	11,350.00
D. Med	dical and Laboratory Supplies		11_	1	
45	Isopropyl Alcohol, 1 gal	20	bottle	794.50	15,890.00
46	Vacutainer Tube Violet Top EDTA, K2 (0.5 ml),	10 _	pack	1,089.60	10,896.00

- 	Aby Carrier Manager Control of Carrier and		Grand	Total	P6,008,009.00
54	Anapiasma+Erlichia+Babesia Gibsoni+Heartworm Test Kit, 10's	50	box	11,917.50	595,875.00
53	Non Sterile (Disposable) Surgical Gloves, Large,100'	10	box	862.60	8,626.00
52	Non Sterile (Disposable) Surgical Gloves, Medium,100's	10	box	839.90	8,399.00
51	Sterile Latex Surgical Gloves, Size 7,50's	2	box	1,021.50	2,043.00
50	Sterile Latex Surgical Gloves, Size 6,50's	2	box	908.00	1,816.00
49	Syringe 1cc	- 5	box	454.00	2,270.00
48	Syringe 3cc	10	box	454,00	4,540.00
47	NSS 500 ml	30	bottle	454.00	13,620.00

Amount in Words: SIX MILLION EIGHT THOUSAND NINE PESOS ONLY

PLEASE SEE ATTACHED TECHNICAL SPECIFICATIONS

Additional Requirements:

Delivery Place: Headquarters Coast Guard K9 Force, CG Base Taguig, #56 ML Quezon St., Purok1, Lower Bicutan, Taguig City.

Payment: Payment shall be processed upon completion of the delivery in accordance with the required quantity and technical specifications and subject to the acceptance in writing by the end-user.

Warranty: All items shall have a warranty of at least three (3) months upon acceptance.

Life Cycle of the Medicine, Medical and Laboratory Supplies all medicine, medical and laboratory supplies: shall have an expiration date of at least one and a half (1 1/2) year from the delivery and acceptance of the items.

Defective Items: Defective items duly identified during the delivery shall be replaced within three (3) calendar days from receipt of the Notice to Rectify coming from the end-user and/or Technical Inspection and Acceptance Committee (TIAC).

Inspection and Acceptance Parameters: The inspection and test shall be conducted at the Headquarters Coast Guard K9 Force, CG Base Taguig, #6 ML Quezon St., Purok1, Lower Bicutan, Taguig City by the end-user and the Technical Inspection and Acceptance Committee (TIAC)

Only items in conformity with the required quantity and technical specifications shall be accepted.

SCHEDULE OF REQUIREMENTS

	SCHEDOLE OF REQUIREMENTS						
Item No	Description	Quantity	Total	Delivered, Weeks/Months			
	Fipronil + (s) Methoprene Spot-On Solution for dogs 2 to 10 kg, 3's Contains Fipronil (9.8%), (S)-methoprene (8.8%), Provides fast, effective and convenient treatment and control of fleas and ticks for dogs weighing 2 to 10 kg. In blister pack of 3 pipettes by 0.67 ml. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).	box	132	Within Thirty (30) calendar days from the date of receipt of the notice to proceed (NTP)			
	Fipronil + (s) Methoprene Spot-On Solution for dogs 10 to 20 kg, 3's		180				

 Contains Fipronil (9.8%),(S)-n (8.8%). Provides fast, effective convenient treatment and control and ticks for dogs weighing 10 to blister pack of 3 pipettes by 1.34 m. Items to be offered are widely locally within the Philippines for period of three (3) years. Medicines to be offered should grade and registered with the Animal Industry (BAI). 	ctive and ol of fleas to 20 kg. In box distributed at least a be animal		
Fipronil + (s) Methoprene Spot-On S for dogs 20 to 40 kg, 3's Contains Fipronil (9.8%),(S)-m (8.8%). Provides fast, effect convenient treatment and control and ticks for dogs weighing 20 to blister pack of 3 pipettes by 2.68 m Items to be offered are widely locally within the Philippines for period of three (3) years. Medicines to be offered should grade and registered with the I Animal Industry (BAI).	nethoprene dive and of of fleas of 40 kg. In of the animal	810	
Afoxolaner 38mg and Milbemycin 8r Chewable for dogs 7.5-15kg,3's Contains Afoxolaner (38mg) and Noxime (8mg). Beef-flavored chewathat kills fleas, ticks and mitteliminating gastro-intestinal working preventing heartworm disease, and eyeworm infections for dogs 7.5-15 kg. Items to be offered are widely office locally within the Philippines for a period of three (3) years. Medicines to be offered should be grade and registered with the Electric Animal Industry (BAI).	Alilbemycin able tablet tes while rms and lungworm box weighing distributed at least a	50	
Afoxolaner 75mg and Milbemycin 15 Chewable for dogs 15-30kg, 3's Contains Afoxolaner (75mg) and Moxime (15mg). Beef-flavored chewathat kills fleas, ticks and mittelliminating gastro-intestinal wor preventing heartworm disease, I	ilbemycin ble tablet es while ms and		
and eyeworm infections for dogs 15-30 kg. Items to be offered are widely dispersed of three (3) years. Medicines to be offered should be grade and registered with the Beanimal Industry (BAI). Ivermeetin 272mcg/Pyrantel 227mg C	weighing istributed it least a e animal	280	

`\			***	· · · · · · · · · · · · · · · · · · ·
	for dogs 51 to 100 lb, 6's			
	Contains 272 mcg Ivermectin and 227 mg			
·	Pyrantel. For use in dogs, weighing 51 to			
	100 lb, to prevent canine heartworm disease		}	
	by eliminating the tissue stage of heartworm	box		
	larvae.			
	• Items to be offered are widely distributed			
	locally within the Philippines for at least a			·
	period of three (3) years.	,		
	Medicines to be offered should be animal	1		
	grade and registered with the Bureau of			
	Animal Industry (BAI).			Table
	Ivermectin 136mcg/Pyrantel 114mg Chewable	A STORY OF S		
	for dogs 26 to 50 lb, 6's			
	Contains 136 mcg Ivermectin and 114 mg			
	Pyrantel. For use in dogs, weighing 26 to 50			
	lb, to prevent canine heartworm disease by	Í		
	eliminating the tissue stage of heartworm			
	larvae.	box	20	
l	Items to be offered are widely distributed.		70	
	locally within the Philippines for at least a			
			j	
	period of three (3) years.			
	Medicines to be offered should be animal			
-	grade and registered with the Bureau of			
	Animal Industry (BAI).			
	Ivermectin 68 mcg/Pyrantel 57 mg Chewable			
	for dogs up to 25 lb, 6's			
1	Contains 68 mcg Ivermectin and 57 mg		1	
	Pyrantel. For use in dogs, weighing up to 25			
	ib, to prevent canine heartworm disease by			
	eliminating the tissue stage of heartworm		1	
	farvae.	xod	43	,
	 Items to be offered are widely distributed 			
	locally within the Philippines for at least a			
	period of three (3) years.			
-	 Medicines to be offered should be animal 			
	grade and registered with the Bureau of			
	Animal Industry (BAI).	•		·
	Praziquantel 50mg+Pyrantel	erdennek errettennek ertekik kilolik dekjelle av Herly (1916 er Hernestel). Missiert jan		
	Pamoate144mg+Febantel 150mg tablet, 50's			, * * ·
i	 Contains 50 mg Praziquantel, 144 mg 			
	Pyrantel Pamoate and 150 mg Febantel per			
	tablet. Systemic anthelmintic tablet use to			
	control Ascarids, Hookworms, Whipworms			
	and Tapeworms.	bottle	30	
	* Items to be offered are widely distributed	46 - 167 m		
	locally within the Philippines for at least a			
	period of three (3) years.		.]	
	Medicines to be offered should be animal.			
	grade and registered with the Bureau of]
	Animal Industry (BAI).	į		Parameter
	Pyrantel Embonate 14.4 mg/ml Suspension,			
	60ml			
	Contains 14.4 mg Pyrantel Embonate and	bottle	5	
	15 mg Febantel per ml. For the control of			e de la company de la comp
L	to title i december her time i at time position at			

		1	
roundworms and hookworms in puppies and small dogs. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).			
 B. Biologicals and Anti-Infectives			
Canine Distemper, Canine Adenovirus Type 2, Parvovirus, Canine Para Influenza Virus and 4 Strains Leptospirosis Vaccine, 25's • Modified live virus vaccine containing attenuated strains of Canine Distemper Virus, Canine Adenovirus 2, Canine Parainluenza Virus and Canine Parvovirus and inactivated Leptospira canicola, Leptospira grippotyphosa, Leptospira icterohaemorrhagiae and Leptospira Pomona. The Canine Parvovirus fraction is high titer and low passage. • Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. • Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).	træy	25	
Canine Distemper, Canine Adenovirus Type 2, Parvovirus Canine Parainfluenza Virus, Coronavirus and Leptospirosis Vaccine, 25's • Freeze-dried preparation of attenuated strains of Canine Distemper Virus, Canine Adenovirus 2, Canine Parainfluenza Virus, Canine parvovirus, and inactivated Leptospira canicolai and Leptospira icterohaemorrhagiae, plus a líquid preparation of inactivated Canine Coronavirus with an adjuvant. The Canine Parvovirus fraction is high titer and low passage. • Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. • Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).	tray	25	
A non-adjuvinated antigenic extract prepared from the cells of Bordetella bronchiseptica. Vaccine for prevention of kennel cough. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal.	tray	15	****

,			<i>(</i>	port to the
	grade and registered with the Bureau of Animal Industry (BAI).			
A Park I	 Anti-Rables Vaccine, 10 ml 10 doses. Contain inactivated and adjuvanted rables glycoproteins. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI). 	bottle	30	
	 Cefovecin sodium 800mg injectable, 10 ml Powder for injection. Contains 80mg/ml Cefovecin sodium, a semi-synthetic broad- spectrum antibacterial agent from the cephalosporin class of chemotherapeutic agents. An antimicrobial for subcutaneous injection in dogs and cats only, indicated for treatment of skin infections. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI). 	bottle	20	
	 Enrofioxacin 2.5% injectable, 50 ml 1 ml solution contains 25 mg of Enrofloxacin. Used for treatment of infections of the alimentary, respiratory and urogenital tracts, ekin and wound infections and otitis caused by enrofloxacin susceptible strains of bacteria. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI). 	bottle	5	
	 Marbofloxacin 2% injectable, 100 ml Contains 2% marbofloxacin. For treatment of infected wounds, subcutaneous abscesses and lower urinary tract infections in dogs. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI). 	bottle	2	
	Marbofloxacin 20 mg tablet,10's Contains 20 mg marbofloxacin per tablet. For treatment of infected wounds, subcutaneous abscesses and lower urinary tract infections in dogs. Items to be offered are widely distributed locally within the Philippines for at least a	box	20	

			-,	
	period of three (3) years,			
	Medicines to be offered should be animal	310		
	grade and registered with the Bureau of			
	Animal Industry (BAI).			_
	Marbofloxacin 80 mg tablet,12's			
	Contains 80 mg marbofloxacin per tablet.			
	For treatment of infected wounds,			
	subcutaneous abscesses and lower urinary			
	tract infections in dogs.			
	• Items to be offered are widely distributed	box	40	
	locally within the Philippines for at least a		5.5	
	period of three (3) years.			
	Medicines to be offered should be animal.			
	grade and registered with the Bureau of			
	Animal Industry (BAI).			
	Miconazole Nitrate Chlorhexidine Gluconate	ļ		-
	Shampoo, 150 ml			
	 Contains Miconazole Nitrate 20 mg/ml, 			
	Chlorhexidine Gluconate 20 mg/ml. A			
	, , , , , , , , , , , , , , , , , , , ,	bottle	100	1
	formulated to treat and prevent skin			
	infections due to fungi, yeasts and bacteria.			
	Items to be offered are widely distributed			
	locally within the Philippines for at least a			
	period of three (3) years.			_
	Doxycycline Hyclate 100mg/ml Injectable,			
	100 ml			
	 Injectable broad-spectrum antibiotic used to 			
	treat susceptible microorganisms that			
	became resistant to common antibiotics.			
	Also effective against respiratory problems			
	in dogs.	bottle	5	
	 Items to be offered are widely distributed 			
	locally within the Philippines for at least a			
	period of three (3) years.			
	Medicines to be offered should be animal			
	grade and registered with the Bureau of			Principles
	Animal Industry (BAI).			
	Doxycycline HCl tablets 100 mg, 100's			
	Each tablet contains 100 mg Doxycycline			-
	HCI. Treatment of infections in dogs and			
	cats caused by doxycycline-sensitive			
	organisms including skin infections, GIT			
	infections and respiratory infections.	bottle	200	
	Items to be offered are widely distributed	DOME	200	
	locally within the Philippines for at least a			
	period of three (3) years.			ĺ
	 Medicines to be offered should be animal 			
	grade and registered with the Bureau of			
	Animal Industry (BAI).	Villentation		
-	Mupirocin Ointment 2%, 15 g			
	• Indicated for the treatment of canine		the state of the s	
	bacterial infections of the skin caused by	tube	5	
	susceptible strains of S. aureus and S.	เดอธ	9	
	intermedius.			
	maimound,	i	ĺ	

~		***************************************	······································	**************************************
	 Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable. 			
***************************************	Clobetasol Propionate 500 mcg/g ointment,		***************************************	
	 Steroidal Anti-inflammatory/Antipruritic ointment. Each gram of ointment contains 500 mcg of Clobetasol propionate. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable 	tube	10	
	Metronidazole 500mg tab, 100's Antibiotic and antiprotozoal medication used to treat various conditions such as inflammatory bowel disease, nonspecific diarrheal disorders, infections caused by Glardia (a cause of diarrhea), and periodontal disease. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable.	xad	70	
	 Co-Amoxiclav 625mg tab, 14's Each tablet contains 500 mg amoxicillin and 125 clavulanic acid. Used to treat infections of skin, respiratory and urinary tract and inflammation of the middle ear. Items to be offered are widely distributed tocally within the Philippines for at least a period of three (3) years. Medicines to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable. 	box	100	
a face related to the control of the	Cefalexin 500mg, 100's Antibiotic for Skin and soft tissue infections; uncomplicated urinary tract	No. of the other	N. V. 100 NV N V WA	
	infections. Respiratory tract infections; Bone and joint infections; Genitourinary infections; Acute prostatitis; Acute dental infections. Streptococcal infections. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years.	box	10	·

.

-

1

 Medicines to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable. 			
 Benzyl Penicillin 5,000,000 units (3g) vial Contains 5,000,000 units of Benzylpenicillin Sodium powder for injection. Used to treat serious infections caused by sensitive organisms such as Streptococcus spp, Clostridium spp, Borrelia borgderferi, Staphylococcus spp and fusospirochetes. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable. 		20	
 Streptomycin Sulfate 1g vial Each vial contains 1g of Streptomycin sulfate. Used in treatment of Leptospirosis. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable. 	vail	10	
C. Supplements, Anesthetics/Sedatives, Hematinic, Anti-Inflammatory, Anti-Allergy, Anti-Emetic and Hormones			e e
 Energy Supplement Gel, 120.5 g tube Highly palatable energy supplement for cats and dogs. Contains animal origin nutrients which allow easier and faster conversion of the nutrient to energy. It also contains liver extract which makes the product highly palatable. Available in 120.5 g aluminum tube. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI). 	tube	120	
Multivitamins and Mineral Supplement tablet, 180's Vitamin and mineral supplement for dogs,		4. 44 44 44	
containing 18 essential vitamins and minerals. Given daily with high palatability meat flavored tablet which helps maintain dog's nutritional balance. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years.	bottle	632	

	gazan			Ti Sa
		•	T ₁	
	Medicines to be offered should be animal	1		
	grade and registered with the Bureau of			
	Animal Industry (BAI).			
	Glucose Monohydrate Water Soluble Powder, 340g			
	• Contains 99.9% glucose monohydrate, a			
	monosaccharide sugar that is readily	Į.	ļ	
	absorbed in the gut. Provides instant energy	P .		
	to highly active pets especially during			
Ì	exercise, trainings & intense physical			
	activities. Provides instant energy to fight			
	stress during dog shows, breeding activities	bottle	300	1 2 2
	& long-distance travel.			
	Items to be offered are widely distributed Invelled within the Phillippings for at least a			
	locally within the Philippines for at least a period of three (3) years.			
	Medicines to be offered should be animal	1		
	grade and registered with the Bureau of			
	Animal Industry (BAI).			
				•
	Xylazine 20 mg/ml injectable, 50 ml	१ र प्रत्याच्या १ विकास स्थापना स्थापन		
	A sedative with analgesic, pre-anesthetic			
	and muscle relaxant properties. • items to be offered are widely distributed			
	locally within the Philippines for at least a	bottle	1	
	period of three (3) years.	nome	'	
	Medicines to be offered should be animal			
	grade and registered with the Bureau of			
	Animal Industry (BAI).			
	Tiletamine/Zolazepam Injectable Anesthetics			
	So mg/ml, 5 ml Contains Tiletamine HCl 125 mg, Zolazepam			, and the second
	base 125 mg. For anesthesia and			
	immobilization of domestic dogs and cats;			
	wild and exotic primates and camivore.			
	 Items to be offered are widely distributed. 	bottle	5	
i	locally within the Philippines for at least a			
	period of three (3) years.			
	Medicines to be offered should be animal			
	grade and registered with the Bureau of Animal Industry (BAI).			
And white by the comment of the comm	Maropitant 10 mg/ml injectable, 20 ml	атини ининин нарадин и и и и и и и и и и и и и и и и и и	oy Vernam densit of 1885 complete a made of 1885 complete a	
	• For treatment of acute vomiting in dogs.	rendern Ar witner,		
	Supplied in 20 mL amber glass vials. Each			·
	mL contains 10 mg of maropitant as	ļ		
	maropitant citrate.	and the state of t		
	Items to be offered are widely distributed	bottle	5	
	locally within the Philippines for at least a period of three (3) years.	1 v . n. n. n		
	 Medicines to be offered should be animal 		Carry	
	grade and registered with the Bureau of			
	Animal Industry (BAI).			
A PERSONAL PROPERTY AND A PROPERTY AND A PERSONAL PROP	Dexamethasone 2%, 100 mi	- A		ļ
	 Contains 2mg/ml dexamethasone, a 	bottle	5	
and the state of t	synthetic corticosteroid drug having anti-	- Charles and Artistate and Ar		

40.000.000.0

,		¢ T	the,
inflammatory and immunosuppressant effects. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).			
Oxytocin 20 mg/mi, 50 mi Contains Oxytocin 20 IU. For stimulating uterine contraction, milk let down and supportive therapy to placental retention. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).	bottle	1	
Omega 3 supplement soft gel, 95's Contains Omega 3 (linolenic acid) and Omega 6 (linoleic acid). The blend consists of vegetable, fish, flaxseed (linseed), evening primrose and wheatgerm oils, fortified by zinc chelates, powerful antioxidants in the form of Provitamin A and Vitamin E, as well as essential B group vitamins, blotin, pyridoxine and pantothenic acid. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years.	bottle	30	
Firocoxib 57 mg tab, 60's Nonsteroidal anti-inflammatory drug used to help treat the pain and inflammation associated with Osteoarthritis. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).	bottl e	20	
Atropine Sulfate 0.65 mg/ml, 50 ml Contains 0.65 mg Atropine sulfate, an anticholinergic, antispasmodic, mydriatic used as pre-anaesthetic. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).	bottle	1	
Flunixin Meglumine injectable, 100 ml Contains Flundin meglumine 50 mg which is a relatively potent non-narcotic, non- steroidal analgesic with anti-endotoxic and	bottle	2	

:

				······································
•	anti-pyretic properties. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).	·		
	Joint Supplement Tablets for Dogs tab, 60's Contains a blend of esterified fatty acids with cetyl myristoleate to support joint health and function. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).	bottle	50	
	 Carbocisteine 500 mg, 100's Makes phlegm less thick and sticky (mucolytic) making it easier to cough up. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable. 	box	20	
	Tranexamic Acid 500 mg cap, 100's Antifibrinolytic drug used to treat and prevent excessive blood loss. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable.	box	5	
	D. Medical and Laboratory Supplies			
	Isopropyl Alcohol, 1 gal Contains 70% Isopropyl Alcohol. Antiseptic solution that has rapid bactericidal activity. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years.	boille	20	
	Vacutainer Tube Violet Top EDTA, K2 (0.5 ml), 100's Offers a comprehensive protection for blood cell, especially for protecting the blood platelet, so that it can effectively stop the gathering of blood platelet and makes the form and volume of blood cell uninfluenced within a long time. Items to be offered are widely distributed locally within the Philippines for at least a	pack	10	

,				
	period of three (3) years.			
	NSS 500 ml O.9% Sodium Chloride. Sterile, nonpyrogenic solution for fluid and electrolyte replenishment in single dose containers for intravenous administration. It contains no antimicrobial agents. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Items to be offered should be medical grade and registered with the Food and Drugs Administration (FDA) whichever is applicable.		30	
	Syringe 3cc 100 pieces of sterile, non-pyrogenic, latex free, PVC free 3 cc/ml syringe. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years.	box	10	
	 Syringe 1cc 100 pieces of sterile, non-pyrogenic, latex free, PVC free 1 cc/ml syringe. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. 	box	5	±
	Sterile Latex Surgical Gloves, Size 6,50's Sterile and individually packaged in pairs. Used during surgical procedures. Size 6. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years.	box	2	*
	Sterile Latex Surgical Gloves, Size 7,50's Sterile and individually packaged in pairs. Used during surgical procedures. Size 7. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years.	box	2	
	Non Sterile (Disposable) Surgical Gloves, Medium,100's Latex gloves used during examination to prevent transmission of infectious disease from patient to personnel handling the patient. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years.	box	10	
	Non Sterile (Disposable) Surgical Gloves, Large,100's Latex gloves used during examination to prevent transmission of infectious disease from patient to personnel handling the patient. Items to be offered are widely distributed locally within the Philippines for at least a	box	10	

period of three (3) years.			
Anaplasma+Erlichia+Babesia Bibsoni+Heartworm Test Kit, 10's In vitro diagnostic for the detection of Dirofilaria immitis antigen, antibody to Anaplasma phagocytophilum, antibody to Anaplasma platys, antibody to Babesia gibsoni and antibody to Ehrlichia caris in canine serum, plasma, or whole blood. Items to be offered are widely distributed locally within the Philippines for at least a period of three (3) years. Medicines to be offered should be animal grade and registered with the Bureau of Animal Industry (BAI).	Þöx	50	
 nothi	ng follows	м ж м м	

\$.225; |

In case of failure to make the full delivery within one (1) percent of the cost of the unperformed portion	n the time specified above, a penalty of one tenth of (1/10) of the contract for every day of delay shall be imposed.
Conforme: CANC INTERVED Signature Over Printed Name Date	CG ADMIRAL ARTEMIO M ABU Commandant, Philippine Coast Guard Authorized Official
Fund Cluster: Funds Available: Signature Over Printed Name of Chief Accountant/ Head of Accounting Division/Unit	ORS/BURS No: Date of the ORS/BURS: Amount:

THIS AGREEMENT made the 23 day of MAY 20 22 between PHILIPPINE COAST GUARD with office address at National Headquarters Philippine Coast Guard, 139 25th Street, Port Area, Manila, of the Philippines (hereinafter called "the Entity") of the one part and KULITS DRUGSTORE of 1039 Unit 3 Cor J.P.Rizal St. and Kingsway Rd., Nangka, Marikina City Philippines (hereinafter called "the Supplier") of the other part;

WHEREAS, the Entity invited Bids for certain goods and ancillary services, particularly Supply and Delivery of K9 Requirements-Medicine, Medical and Laboratory Supplies and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of SIX MILLION EIGHT THOUSAND NINE PESOS (P6,008,009.00) (hereinafter called "the Contract Price").

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as integral part of this Agreement, viz.:
 - i. Philippine Bidding Documents (PBDs);
 - i. Schedule of Requirements;
 - ii. Technical Specifications;
 - iii. General and Special Conditions of Contract; and
 - iv. Supplemental or Bid Bulletins, if any
 - Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- v. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- In consideration for the sum of SIX MILLION EIGHT THOUSAND NINE PESOS (P6,008,009.00) or such other sums as may be ascertained, KULITS DRUGSTORE agrees to Supply and Delivery of K9 Requirements-Medicine, Medical and Laboratory Supplies in accordance with his/her/its Bid.
- The PHILIPPINE COAST GUARD agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

CG ADMIRAL/ARTEMIO M ABU

ror

PHILIPPINE COAST GUARD

MR. CARL R. MANZANO

For

KULITS DRUGSTORE

ACKNOWLEDGEMENT

REPUBLIC OF THE PHILIPPINES)	S.S.
BEFORE ME, a Notary Public for and of, 20, personally a	in City of, Philippines, thisday appeared:
NAME	ID ISSUED AT/VALID UNTIL
CG ADMIRAL ARTEMIO M ABU	CG21-O-920010909/NHQ-PCG/20 Oct 2023
MR. CARL R. MANZANO	Passport no. P6426063A/ DFA NCR East / 15 Mar 2018
of	me person who execute the foregoing instrument consisting () pages, including the page ten and acknowledged before me that the same is his/her at of the Corporation/Sole Proprietorship he/she represents. SEAL, at the place and on the date first above written.
Doc No; Page No; Book No; Series of 20;	